No32.29
1)(4x — 3)(4x + 3) — (4x — 1)? < 3x

16X —9 — 16%x%* + 8x — 1 < 3x
8x — 10 < 3x

8x —3x < 10

5x < 10
X< 2

OtBeT: (—0; 2)



Tema ypoka:

dopmyrnbl Kydba cyMmmbl U Kyba
PA3HOCTW OBYX BblipaXkeHUW.
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(a+b)>=(a+b)(a+b)(a+b)=

= (a+b)*(a+b) =

=(aw+b)=

=a> + 2a°b + ab® + a*b + 2ab* + b> =
= a> + 3a*b + 3ab* + b’
(a + b)3>= a3 + 3a*b + 3ab? + b3




(a — b)*= a® — 3a*b + 3ab?* — b>
Ha3. Kyb6 Pa3HOCTU ABYX BbIParKEHUI.

Hanpumep:

(x*+5y)* =
= (x*)* +3- (x*)* 5y +3-x% - (5y)* + (5)° =
= x° 4+ 15x*y + 75x%y?% + 125y3

125 — 75a + 15a* — a® =
=53—-3-5%-qg+3-5-a*—-a*=(5-a)’



